
 

1. Common Factor 

 

a. 𝑎ଷ − 𝑎𝑥 
b. 𝑎ଶ − 𝑎𝑏ଶ 
c. 5𝑎𝑥 − 5𝑎ଷ𝑥ଶ 
d. 𝑥ଷ − 𝑥ଶ𝑦 
e. 𝑥ଷ − 𝑥ଶ𝑦 + 𝑥𝑦ଶ 

f. 6𝑥ଷ − 9𝑥ଶ𝑦 + 12𝑥𝑦ଶ 
g. 7𝑎 − 7𝑎ଷ + 14𝑎ସ 
h. 38𝑎ଷ𝑥ହ + 57𝑎ସ𝑥ଶ 
i. 10𝑥ଷ − 25𝑥ସ𝑦 

 

2. Grouping 

 

a. 𝑎ଶ + 𝑎𝑏 + 𝑎𝑐 + 𝑏𝑐 
b. 2𝑥 + 𝑐𝑥 + 2𝑐 + 𝑐ଶ 
c. 5𝑎 + 𝑎𝑏 + 5𝑏 + 𝑏ଶ 
d. 𝑎𝑥 − 𝑏𝑥 − 𝑎𝑧 − 𝑏𝑧 
e. 2𝑎𝑥 + 𝑎𝑦 + 2𝑏 + 𝑏𝑦 
f. 𝑥ଶ − 𝑎𝑥 + 5𝑥 − 5𝑎 
g. 𝑎𝑥 −𝑚𝑎 + 𝑛𝑥 − 𝑛𝑎 
h. 3𝑎𝑥 − 𝑏𝑥 − 3𝑎𝑦 + 𝑏𝑦 

i. 6𝑥ଶ + 3𝑥𝑦 − 2𝑎𝑥 − 𝑎𝑦 
j. 𝑎𝑥ଶ − 3𝑏𝑥𝑦 − 𝑎𝑥𝑦 + 3𝑏𝑦ଶ 
k. 𝑎𝑥ଶ + 𝑏𝑥ଶ + 2𝑎 + 2𝑏 
l. 2𝑥ସ − 𝑥ଷ + 4𝑥 − 2 
m. 𝑥ସ + 𝑥ଷ + 2𝑥 + 2 
n. 𝑥ଶ − 3𝑥 − 𝑥𝑦 + 3𝑦 
o. 𝑎𝑥 − 𝑏𝑥 + 𝑏𝑦 + 𝑐𝑦 − 𝑐𝑥 − 𝑎𝑦 

 

3. Simple Trinomials 

 

a. 𝑎ଶ + 3𝑎 + 2 
b. 𝑎ଶ − 7𝑎 + 12 
c. 𝑥ଶ − 19𝑥 + 90 
d. 𝑥ଶ − 21𝑥 + 108 
e. 𝑥ଶ − 19𝑥 + 84 
f. 𝑥ଶ + 20𝑥 + 96 
g. 𝑥ଶ − 18𝑥 + 45 
h. 𝑎ଶ − 14𝑎𝑏 + 49𝑏ଶ 
i. 𝑚ଶ − 13𝑚𝑛 + 40𝑛ଶ 
j. 𝑥ସ + 8𝑥ଶ + 7 
k. 𝑥ଶ𝑦ଶ − 16𝑥𝑦 + 39 

l. 12 − 7𝑥 + 𝑥ଶ 
m. 𝑥ଶ + 𝑥 − 6 
n. 𝑥ଶ − 𝑥 − 2 
o. 𝑥ଶ + 𝑥 − 56 
p. 𝑎ଶ − 𝑎 − 20 
q. 𝑎ଶ − 4𝑎 − 117 
r. 𝑎ଶ − 12𝑎𝑏 − 85𝑏ଶ 
s. 𝑥ଶ + 16𝑥𝑦 − 260𝑦ଶ 
t. 𝑥ଶ + 7𝑥𝑦 − 60𝑦ଶ 
u. 𝑎ଶ − 𝑎𝑦 − 210𝑦ଶ 

 

  



 

 

4. Other Trinomials 

 

a. 2𝑥ଶ + 3𝑥 + 1 
b. 3𝑥ଶ + 5𝑥 + 2 
c. 2𝑥ଶ + 5𝑥 + 2 
d. 3𝑥ଶ + 10𝑥 + 3 
e. 2𝑥ଶ + 7𝑥 + 6 
f. 2𝑥ଶ + 11𝑥 + 5 
g. 5𝑥ଶ + 11𝑥 + 2 
h. 4𝑥ଶ + 11𝑥 − 3 
i. 2𝑥ଶ − 𝑥 − 1 
j. 3𝑥ଶ + 7𝑥 − 6 
k. 2𝑥ଶ + 15𝑥 − 8 

l. 2𝑥ଶ + 𝑥 − 28 
m. 6𝑥ଶ + 7𝑥 − 3 
n. 6𝑥ଶ − 7𝑥 − 3 
o. 2𝑥ଶ − 𝑥 − 15 
p. 5𝑥ଶ − 13𝑥 + 6 
q. 10𝑦ଶ − 13𝑦 − 14 
r. 4 + 17𝑦 − 15𝑦ଶ 
s. 5𝑥ଶ + 13𝑥𝑦 − 6𝑦ଶ 
t. 10𝑥ଶ − 𝑥𝑦 − 21𝑦ଶ 
u. 6𝑥ଶ − 3𝑥𝑦 − 84𝑦ଶ 

 

5. Difference of Squares 

 

a. 𝑥ଶ − 4 
b. 𝑡ଶ − 144 
c. 𝑥ଶ − 25𝑦ଶ 
d. 36𝑝ଶ − 49𝑞ଶ 
e. 1 − 25𝑥ଶ 
f. 9𝑎ସ − 121 
g. 𝑥଺ − 25 
h. 81𝑥଺ − 25𝑥ଶ 
i. 64𝑥଼ − 49𝑎ଶ 
j. 𝑎ଶ𝑏ଶ − 9𝑥଺ 
k. 𝑥ସ − 16𝑏ଶ 

l. 25 − 64𝑥ଶ 
m. 64𝑥ଶ − 25𝑧଺ 
n. 16𝑥଼ − 9𝑦଺ 
o. 25𝑥଼ − 16𝑎଼ 
p. (𝑎 + 𝑏)ଶ − 𝑡ଶ 
q. (𝑥 + 2𝑦)ଶ − 𝑎ଶ 
r. 9𝑥ଶ − (2𝑎 − 3𝑏)ଶ 
s. (𝑎 − 3𝑥)ଶ − 16𝑦ଶ 
t. (3𝑎 + 1)ଶ − (2𝑎 − 1)ଶ 
u. (3𝑥 − 2𝑦)ଶ − (3𝑥 + 2𝑦)ଶ 

 

6. Compound Expressions 

 

a. 𝑥ଶ + 2𝑥𝑦 + 𝑦ଶ − 𝑎ଶ 
b. 𝑎ଶ − 2𝑎𝑏 + 𝑏ଶ − 𝑥ଶ 
c. 𝑥ଶ − 6𝑥 + 9 − 16𝑏ଶ 
d. 4𝑥ଶ + 4𝑥𝑦 + 𝑦ଶ − 9𝑐ଶ 
e. 𝑥ଶ + 𝑎ଶ + 2𝑎𝑥 − 𝑦ଶ 
f. 2𝑎𝑦 + 𝑎ଶ + 𝑦ଶ − 𝑥ଶ 

g. 𝑥ଶ − 𝑎ଶ − 2𝑎𝑏 − 𝑏ଶ 
h. 𝑐ଶ − 𝑥ଶ − 𝑦ଶ + 2𝑥𝑦 
i. 𝑥ଶ + 2𝑥𝑦 + 𝑦ଶ − 4𝑥ଶ𝑦ଶ 
j. 𝑥ଶ + 6𝑥 + 9 − 𝑦ଶ + 4𝑦 − 4 
k. 𝑥ଶ − 16𝑥 + 64 − 169𝑥ଶ𝑦ଶ 
l. 𝑥ଶ + 2𝑥 + 1 − 𝑎ଶ − 2𝑎𝑏 − 𝑏ଶ 

 


